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= 1 List six imporant mechanical properiios oL Tha
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2 s Define Botor of safery and Working Siess.
ﬁ -
2 i 1 T -
= 3 Define & kinomatic link and give mve prasies S0
4 What is meant by bol of uniiomm srength A
5 ‘ List out various Dpes of screw fasienings.
§  What is the npe of rveted joiais 2
_ T  Design the diameter of shaft 1o run at A0drpm and T oL
* power, Assume shear stress of 40N'mm?.
3 What is the difference berween “g]d 'lep'ling and f“i?‘:‘:—,g'—: _ = .
: 9 State the advantages and disadvantages of rolling coreer newr oz 0 F
o7 v sliding contact bearings.
.' 18 " Define rating life of bearing.
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(0)  What are the importan fyeories of clastic Tatlure 7
(b)) Vxplain maxinnm principle siress theary i ¢lasiic I.ulun-..
() What are the factors 1o be considered Tor the design of machime
clements 7
(b}  State difference between fower pair and bigher pair With
exmnples,
t? Steam engine eylinder has an effective dinmeter off 330 - and
:h“' XTI Steam pressure on the cylinder is 1.23Namm?. Calenlate
e number and size of bolly required to fix the eviinder cover,
assuming the permissible stress in the bolt as 33IMPa.
(a) ::. ﬂ}lhkiN gear ii::::i:-; 15 provided with a steel eve bolt for lifline
. HL s O holt s used 07 the wensile strenetin or .
: : et o s
80 Nimm?. e
(b) What are the various types of w
A double riveled cover by
with 25 mm diameter rivet
are Find the efficiency
double shear as (wice

Ll TN

elded juims

joim eplate of 20 nun thick s e
Lat Wi pitch. e perissible siresses
of joint, wking the strenpth of the 1,
: han that of single shear,

A mild ﬁl_u{:! shiall transmits 20w power sl 2000 and solyected
o a hcndlm_; moment of 560 Nm. The allowable siress .n-nl h'lmll-:
or cmnprtk::lawu stress are 42 Ny and 56 N Mol aice of
the ISha[’l will hf" required i gy subjected o pradually applicd ln.ul‘
Design a cast iron flange coupling, 10 comnect two shalls in o
to transmit 9kW at 800 i, The followin '
0¢ assumed. Permissible shear sy ess (or sl
Is 35 N/mm?2, Permissible crushing stress Tor bolt and kev material
15 65 N/mm? . Permissible shesr stress for O 20NAmm? S
A flat fﬂnl step bearing 300mm diwmeter supports a load of sk
If the Co-efficient of friction is 0,05 and the speed 150 pun Caleulate
the power lost at the bearing under the following L'll!].l“..[-ltl;l .
(&) - Uniforin Pressure )
(b).- Uniform wear.
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Bopermissible stresses nnn
utl, bolt amd kev materials
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